ITI Computer Operator and Programming Assistant (Java) 1st
Year Module 16 Elective-2 Programming language (JAVA)

(1). Earlier name of Java Programming language was . | Java TIITTRT HTT BT tl?ﬁ
AamH YT

(A) Eclipse
(B) Oak

(C) Netbean
(D) Pycharm

Correct Answer : B

(2). What does an interface contain? | Wﬁﬂﬁﬂ%’

(A) Method definition | . fafer afvvymeT

(B) Method declaration | fafer groon

(C) Method declaration and definition | ﬁfﬁa‘rwnqauﬁ%rrm
(D) Method name | fafer 199

Correct Answer : B

(3). Which of these is correct way of inheriting class A by class B? | E’l}l'\ﬁ P19 T AT B

SR AT A DI §T3INC P BT W AT &2
(A) Class B +class A {}

(B) Class B inherits class A {}

(C) Class B extends A {}

(D) Class B extends class A {}

Correct Answer : C



(4). What is the output of this program? class Main { public static void main(String args[]) {
double varl = 2 + 4; double var2 =varl / 4; intvar3 =2 + 4; int var4 = var3 / 4;

System.out.print(var2 + " " + vard); } } | svtﬁumm GI'IGEHEW%? class Main { public
static void main(String args[]) { double varl = 2 + 4; double var2 = varl / 4; int var3 = 2 + 4; int
vard = var3 / 4; System.out.print(var2 + " " + var4); } }

(A) 01
(B) 11

(C) 1.51
(D) 1.51.0

Correct Answer : C

(5). A failed method overriding calls the method of a___in Java. | U 3Hd fafer

ANaREEUSETd 3 fAfy & &id #d g1

(A) superclass

(B) subclass

(C) superclass or subclass
(D) error occur

Correct Answer : C

(6). Which of the following is used to interpret and execute Java Applet Classes hosted by

HTML? | HTML §IRT 8IC fU 71T Java Applet Classes BT IRT 3R fAeare= & fore A &
I fraeT Iuan far Sirar 82

(A) Appletviewer
(B) Appletwatcher
(C) Appletshow

(D) Appletscreen

Correct Answer : A



(7). Which statement causes the loop to immediately jump to the next iteration of the loop? |

DI AT HY GU B gid qU b SFTA TARTGRT IR & T BT HROT TIdT 32

(A) Exit | feTE
(B) Break | EEg

(C) Continue | ao‘ﬁq
(D) Jump | Siq

Correct Answer : C

(8). Which of the following packages is used to includes classes to create user interface like

Button and Checkbox? | Wﬁ%ﬁhﬁﬁ@ﬁhﬁﬁ%ﬁqﬁ&mﬁaﬁ
e H31 & e g & F f5 Yoot &1 IuAT fovar siran g2

(A) Javlang
(B) Javnet
(C) Javawt
(D) Javio

Correct Answer : C

(9). What is the output of the below Java program with Method Overriding? class Sparrow{ }
class BigSparrow extends Sparrow { } class Cat2 { Sparrow jumpingHeight(int weight) {
System.out.printin(40); return new Sparrow(); } } class WildCat2 extends Cat2 { BigSparrow
jumpingHeight(int weight) { System.out.printin(”50"); return new BigSparrow(); } } public
class MethodOverriding4 { public static void main(String[] args) { WildCat2 wc = new
WildCat2(); wc.jumpingHeight(80); } } | AYS ahawgﬁm R ﬁ'ﬁ[ MY SITdT Ipiee]
BT 3T3CYc T %? class Sparrow{ } class BigSparrow extends Sparrow { } class Cat2 {
Sparrow jumpingHeight(int weight) { System.out.printin(40); return new Sparrow(); } } class
WildCat2 extends Cat2 { BigSparrow jumpingHeight(int weight) { System.out.printin(”50");
return new BigSparrow(); } } public class MethodOverriding4 { public static void main(String[]
args) { WildCat2 wc = new WildCat2(); wc.jumpingHeight(80); } }

(A) 40
(B) 50
(C) 80



(D) Compiler error

Correct Answer : B

(10). What will be the return type of a method that not returns any value? | Wﬁﬂ%’ﬁ

e vorR @1 e Wi 1S ot geu w) Re=f i 82
(A) Void

(B) Int

(C) Double

(D) None of the above | Eﬂﬁﬁaﬁé ‘l-ﬁ:lﬁ

Correct Answer : A

(11). If a class inheriting an abstract class does not define all of its function then it will be

known as .| afe Tw oy avf ot favrra ® fire ot o= it et ot ufvanfia
T PHarg ar s & =Y H SHET STe|

(A) abstract

(B) asimple class
(C) static class
(D) sub class

Correct Answer : A

(12). Which of these method of Object class can clone an object? | aﬁﬁwmaﬂﬁﬁﬁ
DI W AYS fHdt sifeeiae o1 T L Gdbdl 82

(A) Objectcopy()
(B) Copy()
(C) Object clone()
(D) Clone()

Correct Answer : C



(13). Which of the following is false statement about package in java? | SITaT & U & IR

A faufefad & @ &9 91 Tad FYF 872

(A) Packages are used for preventing naming conflicts | Wﬁﬂ'@ﬁﬁﬁ%ﬁm
Yol o1 ST fHar wTe 8

(B) Providing controlled access: protected and default have package level access control |
e uga wer oA WRfda ok fewiee # tove Wk 9 ugg FAaavr giar g

(C) Packages cannot be considered as data encapsulation | Wﬁ%ﬂﬁ%@ﬁ?ﬁqﬁ
HIAT SIT b dl

(D) A set of classes and interfaces grouped together | Tdh Y '\‘Tﬂ\ﬁﬁ $&ﬂ3ﬁ 3R
P HTUH U

Correct Answer : C

(14). The break statement causes an exit from loop. | P WL THe qu I dlgX
P FTHFRU AT B

(A) innermost

(B) outermost

(C) break statement causes an exit from program
(D) depends on program

Correct Answer : A

(15). Which of the following options is the best for generating random integer 0 or 1? |

refos® QuIfe 0 a1 1 I0A H1 & e FAufiafaa & 3 &1 1 fowwu 99 sra13?
(A) (int)Math.random()

(B) (int)Math.random()+1

(C) (int)(Math.random()+0.5)

(D) (int)(Math.random()+0.2)

Correct Answer : C



(16). Which polymorphism behaviour do you see in below class? class Paint { public void
Color(int x) { } public void Color(int x, int y) { } public void Color(int x, inty, intz) {}} | 3TU

g Guk:kac k| dg=Udl UdelR m %'? class Paint { public void Color(int x) { } public

void Color(int x, int y) { } public void Color(int x, inty, intz){}}
(A) Method overloading | fafer srfaur

(B) Constructor overloading | m? &ﬁawhﬁm

(C) Method overriding | fafer arferymet

(D) Run time polymorphism | ¥ CIgH dg=Udl

Correct Answer : A

(17). In below java code, whose “Car” will be called? class Father { public void car() {
System.out.printin(”Father’s Car”); } } class Son extends Father { public void car() {
System.out.printin(”"Son’s Car”); } } public class Sample { public static void main(String[] args) {

Son john = new Son(); john.car(); } } | ﬁ%%qwﬁrmaﬁ's'ﬁ, fea®t «car aﬁw

SITUTT? class Father { public void car() { System.out.printin("Father’s Car”); } } class Son
extends Father { public void car() { System.out.printin("”Son’s Car”); } } public class Sample {
public static void main(String[] args) { Son john = new Son(); john.car(); } }

(A) Father’s Car

(B) Son’s Car

(C) There is an ambiguity, so no one Car
(D) Compiler Error

Correct Answer : B

(18). Which of these is necessary to What is the output of below snippet? Specify at time of
array initialization? Object[] names = new String[3]; names[0] = new Integer(0); | ﬁ%%qmz

Rt & 3mseye & fore 379 | 14 1 mava® g2 Rl e & wwg fAfdy

PI? Object[] names = new String[3]; names[0] = new Integer(0);
(A) ArraylndexOutOfBoundsException
(B) ArrayStoreException

(C) Compilation Error



(D) Code runs successfully

Correct Answer : B

(19). ___is not a flow control statement in Java. | Java ﬁ‘ﬁ‘ﬁm@ﬁf
TR g gl

(A) Break

(B) Exit()

(C) Continue

(D) Return

Correct Answer : B

(20). HTML based Java Documentary help can be accessed using . | HTML

ST SITaT STRH ST TgTadr $t BT SUART B YT fbaT ST el
gl

(A) javahelp

(B) javamanual
(C) javadoc
(D) javainfo

Correct Answer : C

(21). Methods used to obtain information about an object are known as | Waﬁ

& IR H SR UTe B4 & fore SuahT &1 5 aret fafir &1 & U H ST
ST 8

(A) string methods | ﬁ%naﬂ%?
(B) class methods | T » adie
(C) accessor methods | E@W%W

(D) object method | a?ﬁﬁﬁl'

Correct Answer : C



(22). Which of these method of object class is used to obtain class of an object at run time? |

Sfssiae T B 5940 A P W faf¥r 379 21w wR fHl sifesiae Fl I ITd HA &
fore IuaT # W< 82

(A) Get()
(B) Void getclass()
(C) Class getclass()

(D) None of the mentioned | s%r@aﬁﬁaﬁéﬂﬁ

Correct Answer : C

(23). Which of these keywords are used to define an abstract class? | Wmmaﬁ

TRUTRT e & R 378 @ 19 & Fas ST IuanT fosar Srar &2
(A) Abst

(B) abstract

(C) Abstract

(D) abstract class

Correct Answer : B

(24). Default, public, protected, private are_____. | %‘Eﬁﬁ, H’I’C&ﬂﬁiﬁ, H'Tfél?[, ﬁﬁﬁ_
gl

(A) access Modifier

(B) non-access Modifiers

(C) bothAandB | a G'?R'BE-']H-T

(D) it's variable

Correct Answer : A

(25). is the keyword used to inherit the properties of a class. | dg

Figs ¢ foraer Iua fasht vl & 7un &Y v H34 & e fear s 21



(A) Inherit
(B) Poly

(C) Extends
(D) Super

Correct Answer : C

(26). Which of the following for loop declaration is not valid? | ]U UIyurT & ﬁlﬂ' IBLIIECE]
# A S 91 H= T8 82

(A) For(inti=99;i>=0;i/9)
(B) For(inti=7;i<=77;i+=7)
(C) For(inti=20;i>=2;--i)
(D) For(inti=2;i<=20;i=2%i)

Correct Answer : A

(27). A statement allows us to execute a statement or group of statements

multiple times. | 89 U® ¥ecHe g1 e & YU Pl Hg aR Hufed H31 1 srqafa
wWeHe dar gl

(A) array

(B) loop

(C) function
(D) exception

Correct Answer : B

(28). Which of the following is not a keyword in Java? | ﬁaﬁ@aﬁﬁﬁ'—rmwﬁw
PIaS T8l 82

(A) Transient

(B) Instanceof

(C) Emun



(D) Strictfp

Correct Answer : C

(29). Array data access using . | @ETQ@W@_WWW@ﬁI
(A) operator

(B) variable

(C) index

(D) pointer

Correct Answer : C

(30). Which of these class is superclass of every class in Java? | sﬂﬁ@f?ﬁqmaﬁwﬁ
TP FATH T URGATH 3?2

(A) String class
(B) Object class
(C) Abstract class
(D) ArraylList class

Correct Answer : B

(31). Which of these is not abstract? | sqﬁﬁaﬁﬂm aﬂ?ﬁ%’t%?
(A) Thread

(B) AbstractList

(C) List

(D) Abstract method

Correct Answer : A

(32). Which of these packages contains abstract keyword? | E:Iﬁ I fra i A Gl'l:j\?f
Pigs MU 8?2



(A) Javlang
(B) Javutil
(C) Javio

(D) Javsystem

Correct Answer : A

(33). Which of the following is used to declare, construct, and initialize an array? | ﬁl";'lﬁl'@?[

# 9 fraet Sua i ¥ 31 9ifta $4, 991 3R Ry $34 & e fear smar @2
(A) intarr[][]={1,2,3, 4};

(B) int[]arr=(1, 2, 3);

(C) int[Jarr={}

(D) intarr[]={1,2,3}

Correct Answer : D

(34). A loop statement in Java programming language repeatedly executes a
target statement as long as a given condition is true. | SITdT TIITFRT ST ﬁ@

U WeHe Uh a8 WehHe &) TR-IR fAwrfed #ar 8 o a& for § 18 Rufa a2
(A) for

(B) for-each

(C) while

(D) do-while

Correct Answer : C

(35). Which of these keywords is used to define packages in Java? | Java A U Bl

URYTRT HA & o 3H A frg Flas &1 U fhaT w11 82

(A) pkg
(B) Pkg

(C) package



(D) Package

Correct Answer : C

(36). What will be the output of the following Java program? package pkg; class output {
public static void main(String args[]) { StringBuffer s1 = new StringBuffer("Hello World");
sl.insert(6, "Good "); System.out.printin(s1); } } Note : Output.class file is not in directory

pkg. | ﬁ;ri%r@?rﬁrmtﬁmm GHBE'QEW@TIT? package pkg; class output { public
static void main(String args[]) { StringBuffer s1 = new StringBuffer(”"Hello World"”); sl.insert(6,

"Good "); System.out.printin(s1); } } ST a' ST3CYC. I WIgd STORFEI! pkg ﬁqﬁgl
(A) HelloGoodWorld

(B) HellGoodoWorld

(C) Compilation error

(D) Runtime error

Correct Answer : D

(37). Which of these keywords can be used to prevent inheritance of a class? | E:I'ﬁ@'m

BITs BT ITAN Bt T F 3R B NpA & forg fvar o wavan &2
(A) Super | WX

(B) Constant | B~

(C) Class | T

(D) Final | T

Correct Answer : D

(38). What is the valid data type for variable “a"” to print "Hello World"? switch(a) {

System.out.printin("Hello World"); } | aﬁ'@lﬁ "a" aﬁﬁzaﬂﬁ%m%%réaw EF‘IIT%?

"Hello World"? switch(a) { System.out.printin("Hello World"); }
(A) Int and float
(B) Byte and short

(C) Char andlong



(D) Byte and char

Correct Answer : D

(39). What will be the output of the following Java code? class Output { public static void
main(String args[]) { Object obj = new Object(); System.out.print(obj.getclass()); } } |

fFrafafaa smarsis &1 GTIGE'ER.’W@"'IT? class Output { public static void main(String

args[]) { Object obj = new Object(); System.out.print(obj.getclass()); } }
(A) object

(B) class object

(C) class java.lang.Object

(D) compilation error

Correct Answer : C

(40). Which of the following is the correct way of importing an entire package ‘pkg’? | H'lIUf

ﬁﬁm'pkg'&maﬂﬁmmﬁaﬂmﬁaﬁ@aﬁﬁﬁﬁw%?
(A) import pkg.

(B) Import pkg.

(C) import pkg.*

(D) Import pkg.*

Correct Answer : C

(41). Range of Byte data type is N EI'IE?@ETWH&@'HT %I
(A) -128 to 128
(B) -127 to 127
(C) -127 to 128
(D) -128to 127

Correct Answer : D



(42). Integer data type does not include following primitive data type N ga"?

scrersy d Fafufea fififea Serersy BEGE
(A) long | @T=T

(B) byte | dIgC

(C) short | =ITE

(D) double | ST

Correct Answer : D

(43). Interface calculate { void cal(int item); } class display implements calculate { int x; public
void cal(int item) { x = item * item; } } class Main { public static void main(String args[]) {
display arr = new display(); arr.x = 0; arr.cal(2); System.out.print(arr.x); } } | E'ETWTTUF'IT{
void cal(int item); } class display implements calculate { int x; public void cal(int item) { x =
item * item; } } class Main { public static void main(String args[]) { display arr = new display();
arr.x = 0; arr.cal(2); System.out.print(arr.x); } }

(A) 0
(B) 2
€ 4

(D) None of the mentioned | W@aﬁé ‘l-ﬁ:lﬁ

Correct Answer : C

(44). Which of these keywords cannot be used for a class which has been declared final? |

sﬂﬁ%ﬁﬁﬂﬁﬁﬁéﬁﬁ%%ﬂmqﬁ%mmmm Sifaw oifta &= fear
T e?

(A) Abstract
(B) Extends
(C) Abstract and extends
(D) Inherit

Correct Answer : A



(45). Which of the following can be operands of arithmetic operators? | ﬁyﬁr@aﬁ@raﬁq

T AP STReR) BT ATIRS B Tha 32
(A) Characters

(B) Boolean

(C) Numeric

(D) Both Numeric and Characters

Correct Answer : D

(46). An statement can be used to access the classes and interface of a

different package from the current package. | U ézﬁzrmm“ﬁvmﬁ%
¥ s 0 & 7T 3R §eb Y a9 Ugd & fe far st gaan 3|

(A) instanceOf

(B) import
(C) extends
(D) implement

Correct Answer : B

(7). Which kind of language java is? | STTdT frd YR BT UTHT 32
(A) Object Oriented

(B) Procedural

(C) Event Driven

(D) Functional

Correct Answer : A

(48). The class which inherits the properties of other is known as N a's'aﬁa‘rg'aif

& TUN ! favTIa o urd FRar 8, 39 & ¥ U 141 8

(A) Superclass

(B) Parent class



(C) Subclass

(D) None of the above | Eﬂ'ﬁﬁaﬁé ‘l-ﬁ:lﬁ

Correct Answer : C

(49). Which of the following is not a primitive data type? | ﬁgmaﬁﬁaﬁ'—r-mﬁﬁﬁa
ST CTSU 8l 82

(A) Byte
(B) Enum
(C) Short
(D) Int

Correct Answer : B

(50). Modulus operator, %, can be applied to which of these? | HVWW Gﬁ‘ﬁ??, %, sﬁﬁﬁ
e o= @y fora s a@an 82

(A) Both Integers and floating - point numbers
(B) Integers

(C) Floating - point numbers

(D) real numbers

Correct Answer : A



